Al = O & 2 Al
20108 = =04 LBESIH JIEIS 83 A SAIZ2elu ~ SAl2te|
&Gt e E2I/s ML t A
S HE - S(EH) - NRAY - BES sk oy e 2
1,785,765 1,823,836 A 38,071
= 50,000
= 11,475
Al 56,754
- 1,667,536
94,746 97,961 A3,215
ot EEH E2J|s ML 94,746 97,961 23,215
29,530 28,673 857
201 Leted 16,465 16,163 302
3,654 4,665 21,011
2 SgHII=SH
147,000& x12& 1,764
Os&s= 270,000& +7E X 1,890
=323l 12,811 11,498 1,313
OXtsxt eFNEREE = 850
oSSXHUHE) 185,000& x2CH *23| 740
ogSXH(AEH) 55,000& = 1CH»22] 110
OXtS XA 33,0003 = 1CH 33
OXNsHEE = 1,728
o2AHUE) 687,000 +2CH 1,374
o3l (AE) 354,000 *1CH 354
OBt+EES o LHASETZ 23|
3,200,000 *2CH 6,400
OEZsE+xtg 28| 3,200,000& = 1CH 3,200
Oslids AE22 50,000 x1CH*12& 600
2= 1,800 2,000 A 200
ANBMFXHEZ=AH| 1,800 2,000 A 200
O Al2te] AIZEFA 2,000, 0003 *90% 1,800
i 2 I 7,515 7,510 5
M=l 7,515 7,510 5
OEz22+=E XY 7,515
o AIBIE 5,500 *50 % 275
o2 50,000& = 10m’ 500
o2 3Gt 13,000& »380% 4,940
oJ|B B dAA S 58)
1,800,000& 1,800
thass 2,700 3,000 A 300
tHats S 2,700 3,000 A 300
O&=2& = EolbHat 900, 000& 900
OZZA = 1,800,000& 1,800
1,050 0 1,050




D Al2tel

S AlZE]
© OtMGHLD YA S 9 &)
S .S (FH) - HEAIY - B2 A} OH dEE =2}
- o= I T ° - 5 ° o= (S 0:”/.)"% C
01 A& E2BHSHI 1,050 0 1,050
OR4dsEs=8D0 2 525,000& »2CH 1,050
ALdAZEXNE 2H 1,034 1,060 NP6
201 LEt23d| 1,034 1,060 N26
02 23=2ZH| 1,034 1,060 A26
ONII2 31,0003 +12& 372
O3t &84 24,0003 *13] 24
OALAHFIEXE |
9963 *BA| 2Hx80L + 1CH 638
SEA Y EAEXZE AT S 4,112 2,828 1,284
201 Let243| 3,572 2,328 1,244
01 AtR2t2lH| 3,572 2,328 1,244
O=22= (5t - 110,000 *5H 550
OL&& 0 2,500,000 2,500
oLa4ExZ22 JIY Xt 32,6003 «2CH =83 522
206 M=l 540 500 40
01 M=z 4l 540 500 40
OL4Ex= ¢ 540,000 540
HA&st ot &8 74X 60,070 65,400 A5,330
206 M=l 570 400 170
01 =4I 570 400 170
OF4dg ZATA(SU2 55 80&)
570,000& 570
401 AEHIZ2Ob| 59,500 65,000 A5,500
01 Al&H| 59,500 65,000 25,500
O=W ot=2 & AKX =4 55,000,000& 55,000
oo EHE 4,500,000& 4,500
Al OF2EEHAIE & 326,160 311,638 14,522
OFztZ 2 M 288,370 280,638 7,732
NS & Bers 22 288,370 280,638 7,732
201 LEt23| 242,586 239,072 3,514
02 222ZH| 242,586 239,072 3,514
OXleteE dilg 11,312
oJllZ2e=a 4,500 9 . BKWx2JH A+ 128 1,026
oMaERE  61.8&*9 BKWx24h*2JH A *365L! 10,286
Ooxnzs &#iea 91,107
oJl2k3ad 4,500 *3KWx 11300 L =12 18,306
oMAUSI
.8&x1,793& *0. 2KW*x9h*365 72,801




A TAl2el
A TAl OF2EZHAIE 22|
@ OftZ2NA (ctel &
g Y Golre g . SJEL-S I
SA-E O (3H) - MBAY - B2 0l &2 e HDS2
OEots &Iz 26.9% *2,090= *85KWx 12 57,346
OR"uxs XTHE &S 4,004
ollE2ea 4,500 x17KWx 122 918
oMaEHRE  61.82*165*0.95KWN*9n*365! 3,086
OPIFFZE 32Xy Mg 13,254
oJlE2ea 4,500 x70KW= 122 3,780
oNMER= 61.83 x70KWx6h*3652 9,474
OdoESE Enxd MIZ 2,314
ollE2e=a 4,500 x9KWx 12 486
oMuaERZE 61.83 xOKWxOh*365! 1,828
o=sga 3 &)l 3,856
oJlE2ea 4,5003 x5KW*3H A+ 122 810
oclEHRF 61.83 »15KW*Qh*365 3,046
O=HMAIE A8z AAOIX &M= 1,029
oll2e3 ,500& * IKWx4H A+ 12& 216
oMEHRI 61.8& *4KW*9n*365L! 813
OUEZ(SHAZ)AAOIX MI= 2,314
oJlE2ea 4,5003 *3KW*3 I A~ =12 486
oclEHRF 61.83 *9KWxOh=365! 1,828
O3 He=x A4EOX HIIZ 772
oll2e3a 4,500 x3KW=12& 162
oMEHRSI 61.8& *3KW*9n*365! 610
O=1 SA0AEXE &)lg 1,543
oJllE2e=a 4,5003 *3KW*2 I A~ =12 324
oclEAHRF 61.8& *x6KW*Oh=3652! 1,219
Ooz=Es MIsd M)z 772
oll2e3 4,500 *3KW=12& 162
ocMEHRE 61.8& *3KW*9n*365! 610
OSFABE GHtUHAIEE HIIZ 258
oJllE2e=a 4,5003 x1KWx12& 54
oclMEAHRF 61.83 »1KWxOh=3652! 204
Og=xFs FEAH AUHEXE HIZ 1,286
oll2e3 4,500 x5KWx 122 270
ocNMEHR=a 61.8& *5KW*9h*365! 1,016
Os&= M= d¥X8=E Mg 258
oJllE2ea 4,5003 x1KWx12& 54
oclMEHRF 61.8& »1KWxOh=3652! 204
O SE=IE S4ZFXZY HIl= 515
oll2e3 4,500 x2KWx 122 108
o= 61.83 *2KWx9h*365& 407
OZ=2 Z2X9 ¢ z2te M|z 1,543
ollE2ea 4,500 x6KW+ 12 324
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S TAIZel
M T Al OFEZGAIE 22|
@ OFtZ2HA CEEE

CEE (S - MRAY - HAS

22
J2

=1
R
121

oMAAR2 61.82 *6KW<Oh*3652! 1,219
OZ=E2 +FAAL ®MII2 16,333
ollE2ea 5,280 x8KW*3J) A+ 10 1,268
oMAARZ 93. 52 x24KWx 10h*300 6,732
oll2ea 5,280 x25KWx 100 A * 102 1,320
oXMaAEAR S 93. 52 25K 10h*3002 7,013
ONSX SANLARLZ2 160,000 *10H*23] 320
ODJtACI2IX 282 270,000+ 1CH 270
OZAZTHAE |22 27,100
ofn FAXY 1,000,000 %4JH 2 4,000
ool Hel Z&EH 80,000,000 *3% 2,400
oZA=2T FAXY 360,000,000 *2% 7,200
OPIFFZE Jd&xY 675,000,000 2! *2% 13,500
OXSHES HIASEI| KX 2
7,200,000 *2CH %6% 864
Og4I| X2l 900, 0002 *4CH*6% 216
OXJFAICI2IRH(OHE) S XIHl 4,000,000 *1CH 4,000
24 45,784 41,566 4,218
24l 45,784 41,566 4,218
OJNZS 2TM 26,628
cNALIESYD
1,5455*{ (3652 *12A12+)/14,000A1 2t}*17,5 8,459
00
o LIESOHE D] 1,5455%10%* 19,5002 3,013
cNAUNEHT
2065 *{3652 x12A1 2/12,000Al 2 }*16,500& 1,241
oHEZMIE OrFD| 2065 *10%*21,5002 443
oAt A I
425 %(3652 x12A12+) /10,000A1 210,500 194
oAAUE S+ 1,7935 »3%+75,0002 4,035
oXMAEHE| 11304 %5%*400, 0002 2,260
oELXE MM 35,860m*5%+*2, 8402 5,093
o OHX I AHH 7,5002 x50« 128 450
=Jt2J| 20 10,0002 *3J4 x 128 360
ody 228 45,0002 «20H x 12 1,080
OXsteE B2 2,095
oxyyn 1,610 %1004 =122 194
oHIYSOHHD| 19,8002 *8J x 12& 1,901
O8osS B4 17,061
cNYULIESYD
2,0905+{ (3652 *12A 2t) /14,000A1 2t }*12,0 7,847

00&




M TAIZE D
I‘liH: l:}\l OI;a—ID:‘}\I/H 41|-a|

et OFr BN (e @e
RA B SA(BH) - NRAY - B 01 e HRE2
oLESZTE o+F )|
2,0905 * 10%+ 15, 000! 3,135
ostary SI|7 2,0005 *3%+21,9402! 1,376
SFI=p] 2,0005 *5%+45,0002! 4,703
RS HOS &5 Y H2 H| 37,790 31,000 6.790
JIES, BosS | 37,790 31,000 6.790
401 AlEHI% SO 37,790 31,000 6,790
01 Al&H| 37,790 31,000 6.790
OEoS A7 8 350,0002! 155 5,250
O=% JIZ2SF A 500,008 205 10,000
O=%, =& 42 J| 5,000,008 =2H 2 10,000
O=SE2oS RN 200,008 #2,0005 +3% 12,540
=MEAl EH 423,781 401,130 22,651
2 50,000
= 11,475
Al 52,754
2 309,552
=X s 2 2l 423,781 401,130 22,651
2 50,000
2 11,475
Al 52,754
2 309,552
t2ste 2 A2 154,233 157,600 £3,367
101 Q124H| 66,054 54,186 11,868
04 JAN2ERSES 66,054 54,186 11,868
o242l QRY(RSHLLY TE) 29,503
o= 43, 77181572 42 53] 6,128
S At 43,7717 S 562 #23] 3,677
o X FEMF| 4377181572 62 53] 9,192
oUERY 43,7719 %82 » 102 +33] 10,506
Oster=nne ARY(SSEY+Y Za) 26,045
X EE] 43,7712 +7 562 43| 7,354
Sy ES 43,7712 +7 S +82 %53 12,256
ol H 43,771+ 7Y +72U %33l 6,435
O#IZEBR 02 (RZFL4Y HE)
4377181532 202 #43] 10,506
201 Yere| 21,075 14,060 7,015
01 AtR22lH| 1,300 1,600 £300
Ozet=elE U4 1,300,0008!*1% 1,300
02 ZZegl 19,775 11,880 7,895
O A2 |xz 425,000 <2304 9,775
Ostet AlE2 KX 100,000 307§ £ 3,000




SN CAIRRID
HE: =MCA X4

el sA0 283 2 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
OZ2E =A &cl 1,000, 000& *1JH 2~ 1,000
Os8g 227 2 55 300,000& *6LCH 1,800
Odtl & -ot==R= 20,000 x12J4+12& 2,880
OB+E 42 86 & - 514523
80,000& x12& 960
ORIAZE NS AE HIIeS
30,000& <122 360
206 M= dl 6,804 7,554 AT50
01 M=Hl 6,804 7,554 AT750
OJtz2==2tel 3,634
oz 9f 7,000& 40 280
oRJIEHI= 4402 %1,600kg 704
oRJ/HHI= 500% *1,000kg 500
oll==+7Y 13,000& 50 % 650
oME 10,000& *150=2 1,500
Ogstet=X2el 3,020
oz 7,000& *30& 210
ocRJIE Hl= 4403 %1,500kg 660
cESI=(H) 1,0008 » 141 %4002 400
oStz MHIE 2,500& 7004 1,750
OXITF L JIEFAM (& 2 98) 150,000& 150
401 AIEHIZL 20 59,800 81,800 222,000
01 Al£Hl 59,800 81,800 A22,000
Oz 24 700,000& »20= 14,000
oz ¥ 100,000& »150= 15,000
OJz+ A0 Edl 200,000 *400H 2 8,000
Ozt - =X ==24 20,000& 6502 13,000
O=38AU ==ZHI(238/XS)
100,000& 502 5,000
OZHU 28717(3MHA) &X
2,400,000 204 2= 4,800
405 XtotE SHI 500 0 500
01 MM ESFSHI 500 0 500
OCL X Eothllet 7 500,000& = 1CH 500
2379 2 YIH 2Y 103,790 102,027 1,763
101 el 15,408 13,526 1,882
04 JIZtHZ2NSE=> 15,408 13,526 1,882
OXsAN - 2R 2L RS (RESFLE
Zgh) 15,408
oARE 2L 43,771 3«6 H*x32L %43 3,152
o x=3tAM 43, 771137 E*8L %53 12,256
206 TH2H 67,882 71,501 A3,619




SN CAIRRID
HE: =MCA X4

el =X =25 2 2el (e E2
SN C(BH) - NRAY - HES Aro Bl =2
Ol &k
01 M=z=Hl 67,882 71,501 A3,619
O=x3t - 2@ E2e| 4,882
SESC e 2008 *12,500& 2,500
o 2J|8dlg 5002 *1,000kg 500
o= 7,000& 100 700
ocAdRHAE 7,000& 100 700
oHIEEE 25,0003 1044 &t 250
oHlg 64,0003 *x2E 128
cE2EI ¥ & 26,0003 x4 104
o=+ 27,000
o8, (I8 6503 x10,0002*22] 13,000
oJtg, A8 1,000& *7,000=2*23| 14,000
(OFFSgap— 12,500& 1,408 17,600
OZUR(2E) 2,000& *2,3002*43| 18,400
401 AIEHIZ 2 20,500 17,000 3,500
01 Al&H| 20,500 17,000 3,500
OmHYI2(=5,=8 &) Maltl
50,000& »250m* 12,500
OL2E =SEtel &Yl 80,000& »100m 8,000
=sXlzel Xzl 13,303 11,303 2,000
201 LBt A Y| 13,303 11,303 2,000
02 3224l 13,303 11,303 2,000
OXtS XAl 48,7503 *2CH 98
OXt=xt B2 260,000& »2CH 520
OO0IEXt B8 65,0003 »1CH 65
OXsxaZMNEREZ 65,0003 »2CH x23] 260
Ost=xt 6,000, 0002 *2CH 12,000
OO0lEXt 360,000 *1CH 360
=2 ARy 22 31,800 30,200 1,600
201 LBt 3| 11,000 11,000 0
02 Z3=2ZHl 11,000 11,000 0
O=ZANES AMErX2el 200,000& 25 & 5,000
O=ZANE &d=E23 1,000, 000 *6IH 2 6,000
206 THZH 20,800 19,200 1,600
01 M=H| 20,800 19,200 1,600
OJt23stzE ¥ stAHE =37
400& *13,0002 43l 20,800
=ItRI| ALY 20,655 0 20,655
= 11,475
Al 2,754
- 6,426




SN EARRID
M =MC A R4
ool =X EE o B (S &2)
_ _ HE T
SN FHH S (3H) - HREAY - BES Ao il b o Hms2
401 Al&HIL 20| 20,655 0 20,655
3 1,475
Al 2,754
2 6,426
01 Al&H| 20,655 0 20,655
0213 20,655,000 20,655
& 11,475
Al 2,754
2 6,426
NIH SAlE =4 100,000 100,000 0
= 50,000
Al 50,000
401 Al&HIL 20| 100,000 100,000 0
= 50,000
Al 50,000
01 Al&H| 100,000 100,000 0
OS A= 100,000, 000& 100,000
= 50,000
Al 50,000
NEHE 34,562 23,641 10,921
Al 4,000
- 30,562
MElgs RSY 29 34,562 23,641 10,921
Al 4,000
- 30,562
NS =& 7,512 12,831 A5,319
201 Let2d| 7,512 6,831 681
01 AFR 22| 2,142 1,610 532
OXNHFL L QlAYD BB 2,142
ocE2H X 40,0003 x4 E 160
cE&H 93 800, 000& 1Nl E 800
oIgly El 175,000 »2CH*2H 700
oIgly 23 75,0003 x2CH =2 NI E 300
cQIBI &A2F 182,000& 182
02 ZE=23Hl 5,370 5,221 149
ogzgsll RNES 8,032,000 *5% 402
ONFIY & ®y 8 400,0002 400
OS=2EXNFE ANAE JNESES 4,568
oGIS A&l 261,800& «12& 3,142
=0=4A 81,4003 128 977
cl2|EZEE 37,4003 x12& 449
C2YH FAAM(RA) 19,050 10,810 8,240
201 LetHY| 17,910 10,810 7,100




S SAZ2
M NHHH
el dRgteE XXM 29 (el &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
01 AFR22/Hl 16,700 700 16,000
OMZ=A923 Ea4d 70,0002 x5 %23 700
OZ2Y=A GHHEX nH 16,000
o2t otUE 1,000,000 *4J 2 4,000
oZ=0IME OIS 1,000,000 *97H & 9,000
S RFHAL ZQ|2HE 3,000,0002 *1J§ A 3,000
02 B2l 1,210 10,110 8,900
OZ2E T 5itHAa 2 X3 1,210,000 1,210
401 Al&H LRI 1,140 0 1,140
01 Al&Hl 1,140 0 1,140
OE2Y FA A& X% 1,140
oHEHS T Wil 3500 %10, 0002 0. 03 105
ocCZ2EE WA 6971 %500, 0002 *0.03 1,035
T2Y FAAN(EX) 8,000 0 8,000
Al 4,000
2 4,000
201 ety 8,000 0 8,000
Al 4,000
2 4,000
02 322gHl 8,000 0 8,000
OZ2g=4 X 8,000
oI 2202 %26, 2005 5,764
Al 2,882
- 2,882
oSIIRHER2 1,7202 *1,300% 2,236
Al 1,118
= 1,118
HY2H B (T A2 D) 906,516 989,466 A82,950
gy 821,891 908,226 A86,335
S22l Q29| 67,515 66,957 558
101 QI2AH 67,515 66,957 558
03 RIAHAZZRE =+ 67,515 66,957 558
OsX2e|d 67,515
=Jl23 1,030,080 2%« 12& 24,722
oMM 15,363
PR, 38,402,000 *1/12x200% 6,401
¥§2ag 38,402,0002 *1/12%30% 961
Sl 38,402,0002 *1/12%250% 8,001
oY MGt 4,560
COIESY (R 40,0002« 1«12 480
IIESY(RER - )
20,0002 x 1 128 240
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SN CAIRRID
B s

HHY 2P (ZAIZelD)
cHel: ol eyl (el &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
S4AI 4 90,000 x2H 12 2,160
egerb g B 70,0002 x2Z 128 1,680
o= 24| 13,681
HoHZAlY| 160,000 x2ZH 122 3,840
- DA 2 Xl 110,000 =2 « 122 2,640
WEE XY 140,000 =2 « 122 3,360
St 38,402,0002 *1/12%120% 3,841
oXWI2RHY 5,329
S22 Y 46,4642 % 150%+24 L x2H 3,346
XK EIINSY
7, 7442 %8N 2t 2 x 162 1,983
o 2| A H| 100,000 x2Z 128 2,400
o 121 S A 50,0002 «2 % 128 1,200
oIl =Y| 260
e gei e 35,0008 x2H 70
85t = 40,0002 x2% 80
Esge kol 30,0002 »2%H 60
- 29 15,0002 x2% 30
%35t 10,0004 x2H 20
CTR24Y HE29H| 750,596 837,069 86,473
101 Q124 750,596 837,069 N86,473
03 RIAHA2ZZXE =+ 750,596 837,069 A\86,473
ozzEsg 750,596
Pl 1,230,370 18 » 122 265,760
SPGEE 178,238
PR, 1,800,370 * 18 x200% 64,814
H2ay 1,800,370 *18% x100% 32,407
SEl=E= 1,800, 3702 * 18 x250% 81,017
oFouLg 44,880
COIESY(HISX) 40,0002 %13 122 6,240
CIESEH(RE - 1)
20,0009 x 17« 12& 4,080
S4AI 4 90,0002 18« 128 19,440
egerb g B 70,0002 182« 128 15,120
o=e| 24| 127,448
N oK Z Al 160,000 * 182« 12& 34,560
- DA 2 X 110,000 x 18 » 12 23,760
WEE XY 140,000 x 18 » 12 30,240
HE SOty 388,880,0002 *1/12%120% 38,888
oXWUI2RHY 90,721
SAlZtel2esd
8,630 x150%+*10A| 2t * 18 x 122 27,962
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A ZTAIZel
SIPS|

M HHE2IZHI(ZAI2eD)
& QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
EEEPE,
8,630 *50%*4 Al 2tx18H «12& 3,729
guaesy
8,630 *6A| 2tx150%*202 « 18 27,962
AXNREFII==E
8,630 *BA| 2tx125%+202 18 31,068
oNMHEHIEZ Y 5,623
- S 51,9903 43| +x2H 416
S 433,880& 43| 3L 5,207
olistd stitg XA 300,000& *13| 6L 1,800
o 2| A H] 100,000& «18F »12& 21,600
o 21 S AtdI 50,0003 18H +12& 10,800
o CHer A 30,0003 *18H x 13l 540
o I =H] 3,186
AA=(5 55) 100,000& «18H 1,800
LM SH( XY S} 30,000& 18 540
22Xt 7,000& x18H 126
get= 40,000 x18% 720
FAN2Z E2EHI 3,780 4,200 A420
203 HRF&HI 3,780 4,200 A 420
04 FN2ILRFAH 3,780 4,200 AN420
ORMEZH 2¢ 350,000& * 122 *90% 3,780
Jl=2&4l 84,625 81,240 3,385
FAMIIZZHI 84,625 81,240 3,385
201 B3| 12,625 12,120 505
01 AtR 22/t 12,625 12,120 505
OFAM2ZE JI2+=2H| 253,000& «25H 6,325
OJl2g SR8 5&H| 252,000& x25Y 6,300
202 (4Hl 72,000 69, 120 2,880
01 =LA b 72,000 69, 120 2,880
OJI=gd*R=+8 ol 240,000& «25H 123 72,000
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